
Compléter les tableaux de proportionnalité suivant en n'utilisant que les propriétés sur les colonnes :

Hauteur (m) 54 81

Prix (€) 120 72 24

Longueur (cm) 14 6 20

Hauteur (m) 56 32

Longueur (cm) 35 25 45

Hauteur (m) 18 63

Longueur (cm) 20 36 28

Hauteur (m) 4 14

Prix (€) 48 18 78

Masse (g) 40 25

Longueur (cm) 42 30 54

Prix (€) 70 20

Longueur (cm) 54 18

Prix (€) 16 8 12

Masse (g) 90 50

Hauteur (m) 4 9 14



CORRECTION :

Hauteur (m) 54 135 81 27 9

Prix (€) 48 120 72 24 8

Longueur (cm) 14 6 20 8 2

Hauteur (m) 56 24 80 32 8

Longueur (cm) 10 35 25 45 5

Hauteur (m) 18 63 45 81 9

Longueur (cm) 20 8 36 28 4

Hauteur (m) 10 4 18 14 2

Prix (€) 48 18 78 30 6

Masse (g) 40 15 65 25 5

Longueur (cm) 42 12 30 54 6

Prix (€) 70 20 50 90 10

Longueur (cm) 72 36 54 18 9

Prix (€) 16 8 12 4 2

Masse (g) 40 90 140 50 10

Hauteur (m) 4 9 14 5 1


